Analysis of "A Modest Proposal" by Jonathan Swift

Why is this a successful piece of satire?  Explain, showing that you understand satire.

1) It is successful satire because it not only reveals the evils of the human conscience but also shows the incompetence of human reason as a result of such evils.  Perhaps, the power of reason is not such a reliable source as enlightenment thinkers may think?  Perhaps, the problems of life and humanity are not purely scientific and may require more than just reason to solve them.

2) Yes this is a successful piece of satire because it is a very sick application of pure pragmatism.  The "reason" that he is mocking, in its purest form, would make this a viable solution to the problem although none of the Enlightenment philosophes would ever condone anything this deplorable.  He identifies the problem, then puts forth a solution which "reason" could dictate as a solution--although a very disturbed one which any civilized person would abhor so it mocks that "reason."

3) Swift's piece is successful because he doesn't beat you over the head trying to make his point.  If he had written an essay detailing all the abuses the Irish had suffered at the hands of the English and demanding reform, it may well have been dismissed or just ignored.  Instead, he uses satire to make his point about the condition of the Irish people under English rule.  He speaks of the children as if they were cattle, writing of breeding and "fore and hindquarters."  The irony is, however, that cattle were probably more humanely treated than the Irish were.  Swift also manages to work in a few digs at the English, such as when he says the landlords "have already devoured most of the parents, [and] seem to have the best title to the children."  

Swift is also trying to make a point about the use (or misuse) of Reason.  His plan is the epitome of Reason--it is well thought out, logical, ordered, and supported with plenty of detail.  It is presented in a detached, analytical manner which only adds to the irony--he is talking about infants as a food source, after all.  Swift seems to be saying there are limits to the ability of Reason to solve society's problems.  Reason is only as good as the person or group doing the reasoning, and just because a proposal is assembled using reason and logic does not mean it is enlightened, correct, or even worth considering.

1) All of these are good answers, but which is the BEST?

2) Why did you choose the answer you did?  Explain.  Give reasons, JUSTIFY your choice.

